ZHE 30 s S % 4
BEMRTE 2018E (FHI0EE)EMBEF1EXERE 2018.4.1
(GOE:D| 12 18 22 13 0 10
48 / OC3[g] 58 / OC3gH 6H / OC3[H 78 / OC3[H 8H / OC5[q] OH / OC3[H
11 B 1 k3 i 1127 EEEE i = T K [7ToLRERREES =
. FooLBERREES
2| A 42 4l =5 2| A10 2| X |mpm s 0 REHE N (BE) A=
3 X [AFEEamE(RR) /BERTY/ HEI R HE 3k o 3[&14 EEBZ05 + EHRBE505 3[H15 e
4] K | FEaTE 2B R) /BERTF/ NIEIRTRE 4 A7 NESE BRER 4] £ Joc 4 X5 ﬁ*fgfjiﬁf*g%”
5| & 5] £ [cEtonA 5| N8 5411 5] A 5|7K15 <RI
6| £ |AZRX(FHTILY) 6] H 6| 7k8 BEEE 6|%£10 6|H14 BEZE0S + EHHER505 6|K15 mpREEREe
7] £ 7] A3 7| K7 7] &+ |oc PR 71|&15
8| H 8| X4 8| £8 8| B |1nazr—vavigE Y52 QFE) 8| K 8]
9| B 9] /K4 . o £ 9[A11 9] & [mEERE LOXTHE(FE) 9| B
v | FAEEHRRD! BRER " e -
10] K| FIT0570 20 ERED 10| A3 10[ B |oc 10{ K12 10| & |(BEER2F WOKXZEFHEWR(FE) 10 A ﬁg;&fjﬁ%%ﬁgﬁ;gfﬁ
HREE Y B ToaLEE EE
1| ok | EREERERDE 11| %4 11| Bs 11]7k12 B 1| £ |wos 1] K |t
RESIGEEES v 2] £ [oc 12] k9 _ 12[ K12 2] A 12] K .
HES i3] B 13] k9 BRI 1311 13] A 13] & |5 sl T REREE
14] £ foc 14| A4 14] K8 14] £ 14] X 14| £ - "’
5] A 15| k5 15] 29 5] B 15] /K 15| * Joc
16| A1 [@%EE 16| K5 BEBE 16| & |oc 16 A [BoB 16| K 16| H
17] & 17| k4 17 A 17] & [BmEesxns BEE 17 & 17| B |szo8
18] 7K1 18] &5 18] A9 18[7k13 18] £ [oc 18] X
2EERNZE (KR o - [ RoMEEE / BEER ]
19] & Yeapmn 19 + 19]:x10 EuEE 19413 BRI 19| 8 19] KK |y 75005 oo ILR HAGHE
20] &2 20| B |oc 20[7K10 20[&12 20 A |oc 20| A |#R:0/17(8) ~ 22(%)
21| * |oc 21[ A5 21| A9 21| £ |oc 21| & 21 &
22| H 22| X6 22| & |A&EH 22| A 22| Kk 22| +
23] B2 23| 7k6 EEEE 23] £ 23[B12 . 23[ & 23] B |LABIz T4 L (FRERHY)
24| N2 24| K5 24| B |oc 24| K13 24| & |oc 24| A |msaoB
25] 7k2 Eme 25| &6 25| A 257K 14 BEBEAS + EHRER0S 25| + |oc 25| X
0ocC o | BB ] X . —
26| A2 26| £ |(ocm i zavoane 26| K (£ B (897) 26| ™ M (313 146 H DiERE R E 26| B 26) K |ummseemmnng
27| £3 27| B 27| K | 15EDH6/28(K) EEBLEHY 27|13 BERE 27| B 27| &
28| + 28| A6 28[ 10| 2% FRRRE1EHE (6/23 ~ 7/1) 28| & |oc 28| X O — 28| &
29] B [oc/minnE 29| k7 — 29| £ 29 B 29| K 1o 4o 5t g7 (8/25~0/2) 29| + |[mE&@EEXRS
30| B [EEBH#E 30 7k7 30| T [BEonaREEELAR IR BES 30[B13 BERE 30| & 30 B [oc
31| A6 31[ k14 BEEEA05 + EHISERS0% 3| &
[#5) 19 18 13 14 11 0
10H / OC1[g] 118 / OC2[g] 128 / OC2[q] 20191 H / OC1[H 28 / OC1[H 3H / OCe6[q
1] A1 1] A4 —— HE= 1] K 11%13 BERE 1] & |eHeaREmon
APY 2] &3 2| B 2[ K 2] 2| T |- RERBmaERE
3| k1 —— 3| £ |ShePH 3| A9 3| & 3| B 3| B |FRsoFEG—REBYERGEHRRE
4| K1 A= 4| K9 nES 4|B14 4 B | .

—— RS04 B B SR RS
5| 21 5| A5 5| ko ARE® 5| + 514 5| % e )
6 :t 6 KS 6 *8 6 E 6 7K14 BEIZEAD + EHIHERS0 6| 7k FER0EEZEHERE
7] B 7| 7K5 RS 7| &7 71 B 7(XR14 71 < TR0 A R B D3t
8| A |xBnA 8| K5 8| £ [oc 8| X 8|£14 8| £
9] & 9] &4 o[ & o[ K 9 £ 9] £ [oc
10] JK |EninEiERi24E BrNEE2EH (10/6~14) 0] £ 10/ A 10 10| K| 10| H 10[ B |=#&8mI+—5LFFE)
1| & |BmEER = k#E G 1110 11]Z10 BERE 11| B [EERz0H 11| A
2] & 12| A6 12[7K10 EEEE 2 to|kas| _ o _ 12| X
13] £ |oc 13| X6 13] &9 13 B 13[k15| ERER - BBIREY BRXTV7-MRE MRk EERU AT
14| H 14| 7K6 BERE 14| £8 14| A |mA0B 1415 B EERREE 14| K |ZEEK(FE)

15[ A2 15[ K6 15[ £ Joc 15| X |sE#ERE 15| £15 15| &

16] X2 — 16| £5 16] B 16] K |BMmiRRFEE 16] £ [oc 16] £

17| k2 17 £ [oc 17[B11 HESE EEEE 17 B 17] A [oc

18| A2 18] H 18[ K11 18| £11| = EBNEMFREREDEMARERR 2% | 18| B15] BEiEL + HBRERY g7 r—+EE | 18] A

19| &2 BERE + HIFIIE1 38~ 158 19| A7 19(7k11 BEBE 19| £ |oc 19| X _ 19 &

N FREEEETRARE

20| 20| &7 R 2010 20[ B 20[ K e 20[ K

21| B |BWE#T— in KYOTO 21| K7 21| 29 21[B12 21| & % H A BRI 21| & |BH0H

22| B3 22| K |RHyUsy K& (EREESM) 22| & 22|12 B 2| &£ 22| &

23| X3 EE 23| & |BymEHHOR 23| B [X=HEH 23[K12 DR 23| + 23| +

24| k3 24| + 24| B [REkE 24|AR12| 1/280K) XERESMBRAHER 25 %) 24| H |E5onaneELtanRERRAQ 24| H [oc

25| A3 25| B |[E5amiaeELannE2RA0D 25| X e 25[212 25| B |aiainemin 25| B |oc
; BB 24 1 | EERERRS AT "

26| & |EIHDREN 26| A8 26) K |y mremimE mamsm R 26| £ 26| X |emmeminn @Ann—Es 26] X

27| £ |B2EEYhhE 27| X8 . 27| & 27 & 27| K |ZEZHifenRS SREREE) 27| K

28] B 28] k8 BRER 28] & 28| A 13 28] K |[emERB=Eman 28] & |oc

29| B4 29[ &7 29| 29[ 113 B 29] £ [oc

30] k4 EHEE 30[ £6 30 A 30[7k13 30 *

31| k4 31| A 31[K13 31| B




